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X>0

[TycTb log,x =t, TOrAa
t?—4t+3=0

YpaBHEHUA
PyHKLMOHANBbHO- ] MeTton BBeaeHus MeTopa,
y MeTopn, g
rpadpuyecknu HOBOW norapugpmmnpoBaHu
NOTEHUMPOBaHUS y
MeTo[q nepemMeHHOn S

J_lex = -)1(; 1
"ANropuTm V

peLleHus: X8 = 100

1. 3aLl.a£l|/|M_I log, (3x — 6) = log, (2x - 3) x>0

ByHKUMN Y =log x W | | 3,7 6 gy ox— 350 Mpornorapudmmnpye
y=-X+1,x>0 3X—6=2X-3 M o6e yactu

2. NocTtpoum

ypaBHEHUs Mo
OCHoOBaHuto 10:
lg x'& = 1g100,
lgx = 2




* CamocTosiTenbHas paboTta

= /BapuaHt » [/ BApUaHT
PeluuTe ypasHeHus: Pelunte ypaBHeHus:
1.1 =4 -
08 xl l.log;x=6-x
210g% x=x+5 2'10g1 x:x+§

3

3.log,(3x—5) =log,(2x—3) 3.log,(2x+3) =log,(x—1)
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